Session-2021-22
Second Term Examination (Model Test paper)
Science and Technology

Class-X
Term-I1

Time : 3 hrs, M.M. 50
Par-A

Questions from 1 to 20 carries one mark each.

Q.1. WEaH eEgiehTE § -

(a) Taem (b) g

(¢) WA (d) =2+

Simplest hydrocarbon is :

(a) Methane (b) Ethane

(¢) Propane (d) Butane
Q.2. FW 9§ wEifadics UHE U9 #F § 7

(a) —CHO (b) - COOH

(c) -CO (d) —NH,

Which of the following is carboxvlic acid group ?

(a) —CHO (b)y - COOH

(¢c) —CO (d) -NH,
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).3 || R ATH &ATT -
Q HoC-c-c” .
i NH
H
(a) W (b) G st
(¢) WM (d) v
H H
H
||
H—G—C:C< Name it
| H
H
(a) Propyne (b) propanoic acid
(c) propanone (d) propene
Q.4.  emefrer srad ARUT W Gl o efiestur @ wEr SHw
OAT T ?
(a) FHIV] HE& (by) w4l e
(¢) THY] EHMA (d) T & = ==t

What is the basis of classification of elements in the
modern periodic table.

(a) Atomic number (b) Number of neutrons
(c) Atomic mass (d) None of the above
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Q.6.

SATeld WRUT § a1 | Al o1 w, gt % ey
I T A A T ?
(a) el &1 "ifcasr yefd sedi |

(b) walsTeran gelazi=i &1 e 5 S 2 |
(c) TmIY] AT | TARE 1 nl #ed |
(d) 37 SHreaEe iy ayeefia 21 10 & |
Which of the following statements is not a correct
statement about the trends when going from left to
right across the periods of periodic table.
(a) The elements become less metallic in nature
(b) The number of valence electrons increases.
(¢) The atom lose their electrons more easily.
(d) The oxides become more acidic.
(Element) (forms) a chloride with the formula XCl.,,
which 18 a solid with a high melting point. X would
most likely be in the same group of the periodic table
as
(a) Na (b) Mg
(¢c) Al (d) Si
e X, XCL, 9 arei U aaige §-471 & ] uep 39  qar
forerert e atfas & enda Wl F T ae wwed: fea
":NH(:_QEEH(HFI“ & [ ?
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Q.7.

Q.8.

Q.9.

(a) Na (b) Mg

(¢) Al (d) Si
9 | Hifeau HIEA wA WS ?

(a) Na (b) So

(c) Sa (d) No

Which of the following is symbol of sodium
(a) Na (b) So

(c) Sa (d) No

751 | I STER e w1 ffv #@ &

(a) =, T8, 31m (b) =%, s, WEE
(c) ==L, T, geft (d) =g, weedt, T

Which of the following constitute a food chain ?
(a) Grass, wheat and mango

(b) Grass, goat and human

(¢) Goat, cow and elephant

(d) Grass, fish and goat

et § 9 I TR W ATer S 6 T e 7

(a) 3T (b) Tary
(c) ywarfea (d) feéwrarfe
23
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Which of the following is not a part of the female
reproductive system in human beings ?

(a) Ovary (b) Uterus

(c) Vas deferens (d) Fallopian tube
Q.10. wYTRET H ¥4 ¥ -

(a) sTEIRH (b) =™

(c) 37=Y (d) gamTeRT

The anther contains :-

(a) Sepals (b) Ovules

(¢) Carpel (d) Pollen grains
Q.11. 3T S99 qepet gl T & 2

() aten (b) #fz

T (o) wismifeay (d) Fearfn

Asexual reproduction takes place through budding

in

(a) Amoeba (b) Yeast

(¢) Plasmodium (d) L.eismania

Q.12. =ERTHT & WF BT ?

(a) Ude gH (b) ¥za
(c) Heelh (d) =
24
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Q.13.

Q.14.

Who is known as the father of geneties 7

(a) Robert Hooke (b) Mendel
(c) Mendleev (d) Darwin
Hee ¥ fora Wi & suv 3o iy far 2
(a) TSI (b) war

(c) 3T, (d) =

Mendel choose which plant to formulate the rules of
inheritance.

(a) Carrot (b) Pea
(c¢) Potato (d) Brinjal
S W Weh R ITYTeRT ST GoiT 2T & |

(a) el wA @ (b) gau
(¢) Ywate (d) i
Reproduction involves creation of’

(a) DNA (b) Testis
(c) Vas deferens (d) Uterus

A A ATHAA NG T WIRd g1 1 THENRAT ien
ﬁﬁmqﬁﬁwr@aﬁaﬁaﬁmﬁmmmbm
&1 AT BAT BRTIOT -

(a) SHI-gegfe (b) ¥risrT
(¢) Frere gfie (d) izl gfi
25

Downloaded from cclchapter.com




Q.l6.

0.17.

The human eye can focus objects ut different dis-
tances by adjusting the focal lengih of the eye lens.
This 1s due to :-

(a) Presbyopia (b) accommodation.
(¢) near-sightedness (d) far-sightedness.
sifsr= A 1w 580 W aftads e s 2

(a) Goredt gr (b) gfemeer gy

(¢) wedrH] BT (d) gfi=ifia gry

The change in focal length of an cye lens is caused
by the action of

(a) Pupil (b) Retina
(¢) Cihary muscles (d) lris.
HTE 3 ey v v fendt o st ulifae e ¥ ag i
(a) I (b) wiifant
(¢) qaelt (d) sfegea
The human eye forms the image of an object at its :
{a) Cornea (b) Iris
(¢) Pupil (d) Retina
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Q.18.

Q.19.

Frer o 9 R | uered ofe wAr W o wgeRr e fere
ST Hehal ?

(a) vt (b) ==

(c) @iz (d) faedi

Which One of the following materials cannot be used
to make a lens ?

(a) water (b) glass

(¢) plastic (d) clay

WERTYT T GUEd okl a0 378 | forwes o arser ¥ 2
() TRt g7 (b) “¥ere gy

() Tarer g (d) w1 e & g0

The laws of reflection hold good [0

(a) plane mirror (b) concave mirror

(c) convex mirror (d) All type of mirrors.

AT T o s o fT e 2yl @l ereran gt
et 7

(a) 25 m (b) 2.5 ¢cm

(c) 25 em (d) 2.5

The least distance of distinet vision for a young adult
with normal vision is about

(a) 25 m (b) 2.5 ¢m

(c) 25 cm (d)2.5m (20%1==20)
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Q.21.

.23,

Q.24.

Q.25.

Q.26.

Part-B
(h1Z 8 U9 &1 &)

Question from 21 to 30 carries

two marks each (do any cight)
art =t frafema ¥ 7
Why do stars twinkle ?
Torad™ | 3 o wuE 7
What do you mean by diffraction of light ?
o el WU HaT ° & sy g 7
What 1s meant by power of accomodation of the eye ?
AEHAIE | A S AR TR e % e i
UMEUZ AUATAT 7
What were the criteria used by Mendeleev in creating
his periodic table ?

et iftrent it v fafa it
(1) = (i1) BRTTer

Draw the structure of following compounds -
(1) Butanone (11) Hexenel
RS srey fod wea € 7 saretr dfa)

What is meant by covalent bonds ? Give example.
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Q.31.

Q.32.

AT o geterTer famam et sy sirela W § ae
i frafa & o deg § 2
How does the electronic configuration of an atom
relate to its position in the modern periodic table ?
B % Y A Tefwer gt el drer R weR are B 2
How does the embryo get nourishment inside the
mother’s body ?
Why does menstruation occur ?
e SRS RNT o 93T ¥ 2
What is the role of decomposers i the ecosystem ?
(8x2=16)
Part-C
IS 3 I A &t

Questions from 30 to 34 carries

three mark each (Do any th ree)
BTEAT TRITSTT |
Why do you think the noble gases are placed in a
separate group ? Explain.
AT % Tk Mia & ¥ 2
What are the limitations of Newlands® law of
Octaves ? 29
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Q.33.

Q.34.

Tl 2 e % Torg s ot @ wiva % uiEeTr &
T T BT Hehd § 7

What would be the advantages of exploiting resources
with short-term aims ?

WIS W s T fei Frefor S5 grr & 2

How is the sex of the child determined in human be-

mngs ? (3x3=9)
Part-D (Five marks)
Co, B ATl FTHATSZATRTES 23R Tevrv o5 o173 GTRTUTST

H S WOHT & UL hT Sotae A fA W A

What would be the electron dot structure of carbon-
dioxide having formula Co, and a molecule of sul-
phur which is made up of eight atoms of sulphur 75

OR
|t o o e vemry a2l g gy 2

Why does the sun appear reddish carly m the morn-

mne?
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